Ring Sizing Guide

Measure your finger

1. Print this document on a sheet of A4 paper.

2. Cutthe sizer on the dashed line, and cut a slit on the dashed line marked
with the arrow next to your “Your ring size'.

3. Push the end of the sizer through the slit ensuring the printed side is visible
on the outside.

4. Tighten the sizer by pulling the pointed end toward your finger. The fit
should be snug but comfortable.

5. Finally, read the letter indicated.

Measure current ring

1. Measure aring that fits the intended finger.

2. Place the ring over the circles below. Matching the
inside edge of the circle nearest in size. This measure- ¢ [nside
ment refers to the inside diameter of the ring.

diameter

3. Ifthering falls between two sizes, order the larger
size.

Please ensure that you are printing at 100% when printing this page
and that it is not being shrunk to fit on the page. On the print dialog box
please uncheck all “SCALE TO FIT PAGE” checkboxes before printing.

To confirm your print out is accurate, measure the bar below.
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Ring Size Chart

Diameter UK &' Europe United States Singapore & Hong Kong Switzerland

(mm) Australia & Canada Japan

141 44 3 6 4 6 4
14.3 G 45 9 54
14.5 G2 31/2 6.5 7

14.7 H 46 6 6'/2
14.9 H/2 47 7.5 7 8

15.1 | 4 73/4
15.3 172 48 8 8 9

15.5 J 41/ 9.5 10 9
15.7 J172 49 9

15.9 K 50 S 10 11 10
16.1 K1/2 10

16.3 L 51 512 71 12 113/4
16.5 L1/2 52 12 11 13 123%/4
16.7 M 6 12

16.9 M1/2 53 13 13 14 14
171 N 6'/2

17.3 N'/2 54 14 14 15 154
17.5 0 55) 7 14.5 16

17.7 0172 15 16"/2
17.9 P 56 772 18,5 17

181 P1/2 57 16 17%/4
18.2 17 18

183 Q

18.5 Q'/2 58 8 17

18.8 R 59 81/2 18 19 19
19.0 R'/2 18.5 18 20

19.2 S 60 9 20"/a
19.4 S/2 61 20 19 21

19.6 T 91/, 21172
19.8 T2 62 20.5 20 22

20.0 u 10 21

20.2 V72s 63 21.5 22 23 228%/4
20.4 Vv 64 10"/2 22.5 24

20.6 V1/2 23

20.8 W 65 11 23.5 25 25
21.0 W1/2 66 24

21.2 X 11772 25 26

21.4 X1/2 67 255 25 27 271/2
21.6 Y 12

21.8 Z 68 26 283%/4
22.0 72 69 12172

22.2 70 27

22.4 Z+1 13

22.6 Z+2 132



